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155 [N-(>2O~EL LFA)TRILAZR 6.3E+2 632.0 632.0
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159 |cis-1,.2-SoOATFLY 3.1E+ 313 31.3
160 |33 TP VAR-AA-DTIIVTIZI | ey 0.1 1.2E+2 119.0 119.1
AR
161 |>o0QY7)LA0A%2> (CFC-12)
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272 |SRKBMHEIEERIEERRC) 1.0E-1| 4.4E+3 44303 | 10E+3| 12E+4| 13,4385 17,868.8
273 1-FFH/—L 1.7E+2 1738 | 2.0E-1| 3.4E+2 338.2 512.0
274 Jtert-FFHLFA—)L 2.5E+1 25.0 25.0
275 |RTYIVEREE TR L 3.5E+2 354.0 | 3.1E+2| 1.8E+4|  17,849.1 18,203.1
276 |TRITFLURUAEZY 9.1E+0 9.1 3.4E+1 33.6 427
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G EINES
FHEXFNMCOZMEDTHH -BEEINDOHHE - BHE] (FF2FE)

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

B HEH 2 (ke/ ) BENE (ke/F) _
® B4 (R4) = TEAD = | FK&E = A
% T REA|KEAN| Ty, | B | (7L (EXn| BBE | BEE
H D | DB e | BE | e | M| & Bt
277 [FJZFLTIY 2.0E+2 2020 | 46E+0| 1.3E+4| 127376 12,939.6
278 |FJZFLTHRIEY 1.5E+1 15.0 2.2E+1 22.0 37.0
279 [1,1,1-~)oODT A 2.2E+0 22 22
280 |1,1,2-~)HOnxTAaY 7.3E+0 7.3 1.3E+3 1,300.0 1,307.3
281 |[FYZOOIFLY 3.5E+4| 9.0E-1 35,473.9 5.2E+3 5,175.6 40,649.5
282 [~YYOOERES
283 |2,4,6-k)yOO-135-R) 7Dy
o84 |FUPRBRITLA RIS (CFC-

113)
285 (yonESY >
286 |k)yBEIL
287 [246-F)HOOTT/—)L 2.0E+0 20 20
288 |kyoBAT)LABOAZRL (CFC-11)
289 [123-~)yonTossy
290 (kY HOOREY
291 (AU TRIVEERIT IS DL
292 |M)TFILTIY
293 [FUTLSYUY
294 (24,6-F)TOET/—)L
295 [3,55-F)AFJL-1-~FH/—)L
296 |1,24-RJAFILRUEY 6.0E+4| 1.3E+0 60,331.9 5.4E+4 54,320.1 114,652.0
297 [1.35-F)AFILRUEY 2.0E+4| 1.2E+0 20,153.9 1.6E+4| 16,4314 36,585.3
298 |FJLZDAVL T R—b 2.6E+0 2.6 3.7E+3 3,738.6 3,741.2
299 [FLASy 1.8E+3 1,824.0 1,824.0
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FHEXFNMCOZMEDTHH -BEEINDOHHE - BHE] (FF2FE)

G EINES

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

) Bett Eke/5) BEEke/F) =
z 2% (BIR) 5 +BAD| ue | Tk s
% T REA|KEAN| Ty, | B | (7L (EXn| BBE | BEE
H D | DB e | BE | e | M| & Bt
300 |kLTY 1.1E+6| 1.5E+1 1,104,266.7 | 1.8E+3| 2.2E+6| 2,248530.5 [ 3,352,797.2
301 |MLIVOTEY 8.0E-1 08| 1.0E-1| 6.6E+1 66.1 66.9
302 [F74L> 8.9E+3 8,873.5 2.5E+3 2,450.4 11,3239
303 [1,5-F7RL Y PAYI T R—b
304 %8 2.1E+1| 5.9E+0 26.9 2.7E+3 2,710.0 2,736.9
305 |fRiEEW 2.3E+1| 3.2E+2 338.8 50E-1| 4.8E+4| 47,7368 48,075.6
306 |ZF7UUILEEANFYAFLY 4.0E-1 0.4 4.6E+2 462.9 463.3
307 |ZIRIEERIED L= L
308 |=v~ L 8.8E+1| 5.2E+0 933 | 7.E+1| 5.0E+3 5,040.7 5,134.0
309 |=v7ILiE &Y 25E+1| 1.7E+3 16865 9.3E+2| 65E+4| 657120 67,3985
310 |=FUD=FEFER
311 Jo-=bA7=Y—IL
312 [o-=kET7 =YY
313 |=rES LYY
314 [p-roo=fra~sEy
315 Jo-=bEMLIY
316 [=rAREY
317 |=hAAEY
318 | ZEifbik®
319 [1-/F/—L
320 [/=oz/—L 2.0E-1 0.2 1.5E+2 151.2 151.4
321 |INFSHLEEY 20E-1| 1.0E+4 104392 | 2.0E-1| 9.4E+3 9,373.3 19,8125
322 |CIF 4 R/8—X T JL— 79:1
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G EINES
FHEXFNMCOZMEDTHH -BEEINDOHHE - BHE] (FF2FE)

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

) B =ke/ ) BEa=ke/ F) _
& ; ” HH=-
= 4 (3148) xE~l ko~ TENP| gme | TN pay| pye | BDE
= o |ogm| FE | Tag | OB Canl| st as
= [Sigapriihya e
323 [ AR
324 1,3-ER[(23-TRF>FOE LA+

IRvEY
325 | F 40
326 (AU FOL
327 |12-ER(@-/O07z=)L)ERSS Y
328 |5 L
329 |RYB—/\A—F 7.1E+ 71.0 71.0

ERA-AFIJL-1-TIZIJLITF)L)=R
330 |t ot 1.8E+1 18.1 18.1
331 |hXHHRX
332 (MBERVZOERIEED 6.6E+0| 2.3E+2 236.5 1.0E+0| 1.0E+3 1,013.0 1,249.5
333 |EFSTY 4.4E+0| 2.3E+1 27.4 3.5E+1| 3.4E+3 3,442.8 3,470.2
334 |4-EFOXLREBEFBAFIL 3.4E+1| 2.3E+2 259.4 259.4
335 IN-(4-ERAFL Tz )L)7ERFER 43E+1| 6.8E+2 723.0 723.0
336 |EFOFX/> 8.4E+1| 3.2E+1 115.7 115.7
337 |4-E=)L-1->oanFx+y 4.5E+2 450.0 1.4E+5|  140,000.0 140,450.0
338 [2-E= LYY 1.1E+3 1,100.0 1,100.0
339 IN-E=JL-2-FayKY
340 |Eoz=)L 7.4E+0 7.4 7.4
341 |ERSDY
342 |[EYDY 9.1E+0 9.1 4.3E+3 4,338.2 4,347.3
343 [hFa—1 8.6E+0 8.6 2.9E+3 2,900.0 2,908.6
344 Dz A XIS
345 | 7= LERSSY
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G EINES
FHEXFNMCOZMEDTHH -BEEINDOHHE - BHE] (FF2FE)

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

) Bett Eke/5) BEEke/F) _

® S4 (314) = TEAD = | FK&E = A

% T REA|KEAN| Ty, | B | (7L (EXn| BBE | BEE

2 DB | DHEH AR 3 a&t e piidan a&t =

346 |2-7x=)LJx/—)L

347 IN-Ix=JLTLA3R

348 |7z=LUPTEY

349 |7x/—)L 7.1E+3 7,133.8 2.7E+3 2,733.0 9,866.8

350 |RJLARY Y

351 [1,3-T4>xTY 1.5E+4| 2.6E+2 15,574.0 6.1E+2 610.0 16,184.0

352 |DRILEESTYIL 2.6E+2 260.0 260.0

353 | RIS ITFIL 1.0E+3 1,000.0 1,000.0

354 |JHILEES-n-TFIL 2.3E+1| 1.2E+4| 12,4395 12,4395

355 |7RILEBEE RQ-TFI)LAX L) 3.4E+2 339.9 | 22E+1| 85E+4|  84,806.0 85,145.9

356 | 7RI EEN-TFIL=RUT L 9.5E+1 95.0 95.0

357 (7@

358 |FIIT/TFK

359 g._‘i*”rzﬁ_rﬁ?/jnﬁ)bl_ 4.3E+1 430 6.0E+3| 60020 6,045.0

360 |[R/3)L

361 [>n\OkyTITFIL

362 |7 Iz FoOY

363 |[AFHTTIY

364 [ZzoEQFTA—k

365 |FFILERRFLT=Y—IL 3.5E+2 350.0 350.0

366 [tert-TFIL=ERORJLAFIF

367 [o-sec-TFILTz/—)L

368 |4-tert-TF)LTx/—)L 2.0E-1 0.2 1.3E+2 127.3 1275
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G EINES
FHEXFNMCOZMEDTHH -BEEINDOHHE - BHE] (FF2FE)

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

B4 (Al4)

P 2 (ke/ )

BE= (ke/F)

Rz

DHEH

Kig~
DHEH

TiE~AD
HEH -
FTAE 3L

HHE

Bt

TKE
~D#%
FE

BEEY
]

BHE

At

BHE-
wEIE

AE
[=N-]

ZasNL¥yhk (BPPS)

EVERY

371

FIIIVESK

372

N-(tert-T FIL)-2-RUJF7YV—)L
ATV FIR

1.3E+3

1,270.0

1,270.0

373

2-tert-J FIL-5-AF )L T/ —)L

374

S2LKRRVZEDKELE

6.7E+2

6.3E+4

63,671.7

3.6E+3

5.2E+4

55,341.2

119,012.9

375

2-TTF—I)

376

JAayno—)L

377

—

T2

378

JoExJ

379

2-FRE -1-A—)L

380

JOE/0ADTLFOALL (NAY
-1211)

381

JOES/ARAZY

382

JOER)TILAOARY (NA-
1301)

383

JavwoiL

384

1-JoxJo/sy

3.2E+4

32,450.0

3.8E+3

3,768.0

36,218.0

385

2-JoEJOos8y

386

TREAY

1.5E+3

1,530.0

1,530.0

387

[ | R VY

388

IVRRILIT7ZY (RUYJIEY)

389

AFH TN AFILTOEZ S L
7=Vl

390

AXHAFLUOTIY

391

ANXPAFL=D4YO T R—b

2.0E-1

0.2

7.8E+1

78.0

78.2
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FHEXFNMCOZMEDTHH -BEEINDOHHE - BHE] (FF2FE)

G EINES

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

) B =ke/ ) BEa=ke/ F) _
5 TiE~D Tk gl
o = = =
% T4 (Bl%) REA|KEAN| Ty, | B | (7L (EXn| BBE | BEE
= D OB T L | Bt = | #h | A =&t
[Sigapriihya }=E
392 [n-~FHy 7.3E+5 731,406.0 1.8E+2| 1.8E+5| 179,816.9 911,222.9
393 |R4FTh—)L 6.0E-1| 2.9E+2 290.6 290.6
394 (RYYH LRUVZFDILEY
395 [R)LAFY ZIHREEDIKBMHEE 7.5E+0| 9.4E+2 9475 9475
396 NIV INABFIZ-1-R LRV
) (PFOS)
397 |IRvDYDr=kyHayr
398 |[Ruo)L=oy0ykr
399 [NV XTFILTER
400 |RUEY 3.5E+4| 1.3E+2 35,500.1 5.9E+2 590.9 36,091.0
BRI E N 3 _4m
401 1,24-ROE M) hILIR DB, 2-4% 11E42 1133 1133
K
402 | ATz F+Evk
403 [ Ry oz /v
404 |RoA4H087x/—)L (PCP)
405 |[F5F%1LEY 3.7E+2| 8.4E+4 84,564.9 1.3E+3| 6.1E+4 62,633.1 147,198.0
406 |R)EILETT=/LEE (PCB) 6.0E-1 0.6 4.2E+3 4,200.0 4,200.6
RUGFFLIFLU)=F7ILFILIT—
407 | (G115 R U2 DEA M) 3.2E+2| 1.7E+2 4895 1.9E+3| 1.0E+5| 103,058.6 103,548.1
I:I D )= -
a08 [NIAFLVIFLUAIFILIT 1.76+0| 15E+2 1478 1478
JLI—TFIL
R A FVIFLU)RTFUIILI—T
409 [ re T 23 L L 1.6E+1| 1.9E+4 19,115.8 19,115.8
R D =)= =
a0 [PVAFLIFLU=/ZUT2=00 51E+2| 156+3| 19831 1.983.1
I—T7IL
411 [RILLTILTER 6.6E+3| 4.1E+2 6,963.6 1.4E+2| 3.7E+4|  37,334.4 44,298.0
412 |RVAVEUVZEDIEEY 1.6E+3| 3.3E+4 34,1935 1.4E+1| 6.7E+5| 674,661.4 708,854.9
413 K T2 ILEE 1.6E+2 160.0 74E+4|  73,584.0 73,744.0
414 K<L A B 2.4E+2 240.0 1.5E+3 1,544.4 1,784.4
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FHEXFNMCOZMEDTHH -BEEINDOHHE - BHE] (FF2FE)

G EINES

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

Jn B < =

B4 (Al4)

P 2 (ke/ )

BE= (ke/F)

Rz

DHEH

Kig~
DHEH

TiE~AD
HEH -
FTAE 3L

HHE

Bt

TKE
~ BEY
(0} o

BE

BHE

At

BHE-
wEIE

At

41

(4}

AR )L B

2.5E+2

247.9

2.0E-1| 2.6E+4

26,209.3

26,457.2

416

ARG JVER2-TF ILAFIIL

6.3E+2

625.3

625.3

417

A2491) )LEE2 3-TRFLTOE )L

1.2E+1

123

2.2E+3

2,234.5

2,246.8

418

ARG B2 (CAFIVTE/)IFIL

1.2E+1

11.5

115

419

ARG LEEN-TFIL

9.3E+2

930.4

930.4

420

A0V) JLEEATFIL

6.5E+3

6,459.1

2.0E+3

2,032.5

8,491.6

421

4-AF) T HEE-2-F

422

I LYY

423

AFILTEY

424

AFI=AYFAST R—b

425

A4y 70Ah)LT (MIPC)

426

AIRIZY

4217

HILsN1) )L (NAC)

428

7x/7hILT (BPMC)

429

NARLTAVAFIL

430

AURFHHILT

431

TJFLRbOEY

432

TSR

433

H—INL

434

AE¥HIL

435

EUI/ NI AFIL

436

A-AFILAFLY

4.3E+2

426.5

426.5

437

-AFIILFATONF—IL
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FHEXFNMCOZMEDTHH -BEEINDOHHE - BHE] (FF2FE)

G EINES

(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

Jn B < =

B4 (Al4)

P 2 (ke/ )

BE= (ke/F)

Rz

DHEH

Kig~
DHEH

TiE~AD
HEH -
FTAE 3L

HHE

Bt

TKE
~D#%
FE

BEEY
]

BHE

At

BHE-
wEIE

AE
[=N-]

43

[oc]

AFILFIELY

1.1E+3

1,125.9

1.0E-1

5.1E+1

51.1

1,177.0

439

AFIEYDY

440

1=AFJL-1-Tz= LT F)L=£RAR
WAFUR

441

< /+7J (DNBP)

442

7az=)L

443

AJEIL

444

NJPI=E D AN-T=

445

ILIFRD LAFIL

446

B4-AFLIOTZ)Y

447

AFLUVER@G1-oaNEILY)=
SAYLT R~

448

AFLUER@A-TT=LU)=04Y
T Fr—hk

3.9E+1

39.0

1.0E-1

3.5E+3

3,527.7

3,566.7

449

TIVATAT7 L

450

EUVIFALT

451

2-ARF-5-AFLT =Y

452

2-AIVHTRUIFF7I—IL

1.6E+2

156.0

156.0

453

EVITURUVEDILEY

2.6E+2

2.9E+3

3,166.9

1.8E+1

3.3E+5

333,447.7

336,614.6

454

2-(BIKRIVICFAIRIFFTYI —
L

455

EILERY Y

1.0E-1

1.0E+3

1,040.2

1,040.2

456

YL T ILE= L

457

4a)LRX (DDVP)

458

YABER) RQ-ZFILAFIIL)

459

YAEERN) R(2-/O00TF)L)

460

YABERIRIIL

3.8E+1

2.5E+3

2,543.7

2,543.7
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(E+nl& x 10", 5l Z [LE+3(% X 1000DEK T, )

G EINES
FHEXFNMCOZMEDTHH -BEEINDOHHE - BHE] (FF2FE)

B HEH 2 (ke/ ) BEE(ke/ )
& : P = -
= w4 (B14) xan kA BENC g | TR pmy| pys | BDE
-% a)*;Fllill a)*;Fllill Fﬁ_migilz ﬁﬁ-l- Eﬂ% H&H:Il él?f =
461 (YABERTZ=)L 8.2E+1 82.1 82.1
462 |YAEER-n-TFIL
1)243 mg-TEQ/
2)
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